Year 3 & 4 Homework – Week 2

**Homework is due in on every Tuesday, please complete it in your red homework books and hand it in on time. **


YEAR 3 and 4 MATHS: 
In Maths this week, Year 3  have been learning to count in hundreds. Please complete the questions in the pages below. Feel free to challenge yourself and attempt the more tricker questions[image: ]
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Year 4 Maths
Year 4 have been learning about Roman Numerals to solve problems. Complete the worksheet below to consolidate your learning. Please feel free to challenge yourself with the more tricker questions!
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GREATER DEPTH:
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ENGLISH
Both Year 5 & 6 – Please read the text below and answer the reading comprehension questions. 
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Roman Numerals

7. Complete the calculations in the fable below

(Ireh oy e LI
3 |+ - X =] fifty-six
+ Xcvi - XXIV =| seventy-six
75 + XIv - =| twenty-three
100 - XLX - XLV =

b4

8. The numbers below are decreasing by thirteen each fime. Complete fhe three
missing Roman numerals from the number sequence below.

-13 -13 -13 .13
a3 @RS /@R /@R

’ ‘ LIX XlVI’

h=4

9. Z0e and William are discussing Roman numerals.

| think that | think that

XCIV=116 XCIV = 94

because because
10+100+ 1+ y 100-10=90
5=116. o and5-1=4.

Who is correct? Explain your answer.

k4
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7. Match the problem to the correct bar model. Calculate the answer.

A.Tara has mixed 939ml of paint. She has used 1 part
green paint, 3 parts yellow paint and 2 parts white paint.
How many ml of yellow paint are there?

144.5ml

144.5ml

144.5ml

144.5ml

144.5ml

144.5ml

B. Mia has made 990ml of fruit juice. She has used 1 part
lemon juice, 3 parts apple juice and 2 parts orange
juice. How many ml of orange juice are there?

C. Neil has made 867ml of milkshake. He has used 1 part
strawberry juice, 3 parts yoghurt and 2 parts milk. How
many ml of yoghurt are there?

A1

156.5ml

156.5ml

156.5ml

156.5ml

156.5ml

156.5ml

165ml

165ml

165ml

165ml

165ml

165ml

8. Here is part of a recipe for 8 individual frifles.

500ml of custard

1969 of strawberries
4 tsp of sherry

A. Calculate the quantities needed for 1 person.

B. Calculate the quantities needed for 5 people.

e
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9.True or false?

At sally's Supermarket, | can buy 4 cans of beans for £1.24.
At Cheap-as-Chips, | can buy 5 cans of beans for £1.30.

At Bargains for You, | can buy 7 cans of beans for £1.75

Beans are cheaper if | buy them from Cheap-as-Chips.

Explain your answer.

7%
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Marie Curie

Marie Curie is a famous scientist who is most famous for discovering two new
radioactive elements. During the First World War, Marie Curie invented an incredible
machine which is estimated to have helped over one million soldiers.

Early Life

Marie Curie was born in Poland on the 7th
November 1867. Marie's parents were both
teachers and her father would often teach
her science at home.

When she grew older, Marie wanted to go to university and learn
all about physics. Unfortunately, at the time women were not

allowed to study in Poland. This meant that Marie had to move to
France where she was allowed to go to university.

Important Work
After she had learnt all about physics at university, Marie
worked in a laboratory with her husband, Pierre Curie.
During this time, Marie made an incredible breakthrough

D mcric Curic's
ArRanbll  cnd discovered two new radioactive elements which had
blue laboratory o

never been seen before. >

clothes were 3
actually the same by
R n Wo VA
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) he materas

~
that Marie Curie

worked with were so

dangerous that you
can't even look at

her cookbook today
without wearing a

full protective suit.

Because of her amazing discoveries and work in science,
Marie Curie became the first woman ever to win a Nobel
Prize. This is a prize awarded for outstanding work. A few
years later, Marie went on to win a second Nobel Prize which
made her the first person ever to win two Nobel Prizes!
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When the First World War started, Marie Curie knew she had to do something
to help. Marie had realised that injured soldiers recovered better if they were
treated quickly. Putting her knowledge and understanding of radiation to
go0d use, Marie decided to invent @ machine which could help wounded
soldiers close to the battlefields.

With this in mind, Marie taught herself anatomy and mechanics and set off
to create mobile x-ray machines which could be used on the front line. Marie
Curie's daughter Irene helped her and together they were able to install 20
mobile x-ray vehicles and 200 x-ray units at field hospitals during the first
year of the First World War. These incredible machines were named ‘Petites
Curies' after the amazing lady who created them.

fe-®© 288
Legacy

Although she was born over 150 years ago, Marie Curie’s work s still incredibly
well known. Some treatments being used in hospitals today started out as
inventions in her laboratory.

In recognition of the incredible work she carried out, the name Marie Curie’ can
be found in many different places. For example, in 2007, the 'Pierre et Marie
Curie’ station in France opened and was named after Marie and her husband.
There is even an asteroid named the 7000 Curie!
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Glossary

anatomy: The make-up of living things.
mechanics: The study of machines.

physics: An area of science.

radiation: Waves that enter the human body.

radioactive: Giving off radiation.
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Questions

. What was Marie Curie the first woman to do? Tick one.

O go to university

O work in the First World War
O study physics

O win a Nobel Prize

. What was surprising about Marie Curie’s work clothes? Tick one.

O they were yellow

O they were the same clothes she wore to get married
O she never changed them

O they were called ‘Petites Curies’

. Number the events from 1-4 to show the order they happened in.

A station in France was named after Marie and Pierre.
Marie moved to France.

Marie became the first person ever to win two Nobel Prizes.
Marie Curie became the first woman to win a Nobel Prize.

. Draw four lines and match each number to the correct statement.

2 + + ‘The number of soldiers it is estimated Marie Curie helped.

+ “The number of x-ray units Marie installed at field hospitals.

¥
200 + + The number of mobile x-ray vehicles Marie installed.
1

§ The number of Nobel Prizes Marie Curie won.
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5. Look at the section called Important Work.
Find and copy one word which shows that Marie's work was impressive.

6. Fillin the missing words.

Some treatments being used in hospitals

today started out as in her
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7. Marie Curie had to move to a new country so that she could go to university.
Do you think this was a good idea? Explain your answer.

8. Marie Curie became the first woman ever to win a Nobel Prize.
How do you think Marie Curie felt at this point in her life? Explain your answer.
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Count in 50s
1. Match each child fo the correct number.
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2. Identiy the missing numbers marked on the number ine.
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3.Solve the calculations in each box and then order the boxes in ascending order.
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Count in 50s

4. Match each child fo the correct number.

1 comrnch my mmbowr Ican reach my number
by counting 5 jumps by couning & jumps
forwards In 505 from 350. backwards i 505 from
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4. Solve the calculations in each box and then order the boxes in descending order.
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Count in 50s

7. Match each child fo the correct number.

I can reach my number
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9. Solve the calculations in each

box and then order the boxes in descending order.
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Roman Numerals

1. Complefe the calculations in the fable below

Numerals Rl Words
3 + = eight
R X = five
12 + sixteen
20 - XV =

hig

2.The numbers below are increasing by three each fime. Complefe the three missing
Roman numerals in the number sequence below.

+3 +3 +3 +3
a3 @RS /@R /@R

LI} vl ’ ‘ ’

hig

3. Helen and Ben are discussing Roman numerals.

I think that 1 think that
wv=6é =4
because because
1+5=6. 5-1=4.

Who is correct? Explain your answer.

hig
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Roman Numerals

4. Complete the calculations in the table below

Numerals Rl Words
2 + = forty
69 - v =
2 + elghty-five

- xcvill two

v

5. The numbers below are increasing by seventeen each fime. Complee the three.
missing Roman numerals in the number sequence below.

+17 +17 +17 +17
a3 @RS @R @R

‘ J xxin XL ’ ‘ ’
hiig

6. Harry and Megan are discussing Roman numerals.

| think that XL 1think that XL
=60 because = 40 because
50-10=40.





